
Thumper Fab
5103 Elysian Fields Rd, Marshall, Tx 75672

Customer Service: 903-472-0928

www.thumperfab.com

Aluminum Audio Roofs     Bumpers & Roll Cages     UTV Accessories

1. Place winglet on stock bumper and mark 
where the four mounting holes should be 
drilled. 

2. Drill holes where marked using 3/8” drill 
bit. 

3. Install LED lights to winglets using two hex 
head bolts from the hardware box from 
light kit. Discard unused hardware.  

4. Replace winglet on bumper. Place sup-
plied standoff under specified hole nearest 
light and loosely secure using 5/16” x 
1-1/4” bolt.

5. Secure winglet using 5/16” x 3/4” bolts on 
remaining 3 holes. Tighten all hardware. 

6. Connect wiring harness to pulse bar on 
Ranger, route through firewall, and connect 
to winglet LED. 

7. Install dash mount rocker switch and 
connect harness as labeled:  
     
A-black    
B-white    
C-blue

STANDOFF

FRONT BUMPER WINGLET SET
WITH LED LIGHTS

P/N: TF010001

2018+ POLARIS RANGER 3-SEAT
2019+ POLARIS RANGER CREW

PARTS

P/N: TF-RGR1K-X1 THUMPER FAB FRONT BUMPER WINGLET WITH LED LIGHTSPage 2

   INSTALLATION INSTRUCTIONS

FRONT BUMPER WINGLET SET
WITH LED LIGHTS
P/N: TF010001

2018+ POLARIS RANGER 3-SEAT
2019+ POLARIS RANGER CREW

REF QTY PART DESCRIPTION REF QTY PART DESCRIPTION
1 2   Thumper Fab Winglets 6 8   5/16” Flat Washer
2 2   LED Lights (in box) 7 8   5/16” Nylock Nut
3 2   Standoff 8 1   Wiring Harness
4 2   5/16” x 1-1/4” Button Head Bolt  9 1   Dash Mount Rocker Switch
5 6   5/16” x 3/4” Button Head Bolt    

To watch installation video, go to www.thumperfab.com


